




α

×





 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185452
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185453
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185454
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185455
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185456
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185457
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185458
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185459
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185460
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185461
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185462
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185463
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185464
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185465
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185466
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185467
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185468
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185469
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185470
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185471
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185472
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185473
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185474
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185475
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185476
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185477
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185478
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185479
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185480
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185481
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185482
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185483
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185484
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185485
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185486
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185487
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185488
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185489
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185490
file:///H:/Intern/INTERN%20REPORT%20(Autosaved).docx%23_Toc94185491




https://goo.gl/maps/S715cavw8cehsxHQ8


https://en.wikipedia.org/wiki/National_Astronomical_Observatory_of_Japan
https://en.wikipedia.org/wiki/Government_of_Japan
https://en.wikipedia.org/wiki/Optical_telescope
http://www.accimt.ac.lk/?page_id=670


 

 

 

 

 

 

 

 

 

 







https://simple.wikipedia.org/wiki/Hydrogen
https://simple.wikipedia.org/wiki/Helium


• 

• 

• 

• 

• 



https://en.wikipedia.org/wiki/Yagi_antenna
https://en.wikipedia.org/wiki/Yagi_antenna


 

 

 

 

 

 

 







• 

• 

• 

• 

• 

• 



𝛼

α

τ

σ

𝜏 =  
𝑅𝑛+1

𝑅𝑛
= 

𝐿𝑛+1

𝐿𝑛
= 

𝑑𝑛+1

𝑑𝑛
< 1

tan (
α

2
) =  

𝐿𝑛/2

𝑅𝑛
= 

𝐿𝑛+1/2

𝑅𝑛+1

σ =  
𝑑𝑛

2𝐿𝑛



𝑑𝑛 = 𝑅𝑛 − 𝑅𝑛+1

𝑅𝑛+1 =  𝜏𝑅𝑛

σ =  
𝑑𝑛

2𝐿𝑛
= 

1 − 𝜏

4tan (𝛼/2)

α = 2 tan−1 (
1 − 𝜏

4𝜎
)

  D (θ, ψ) = 4π U (θ, ψ) / Pr

θ, ψ

θ, ψ

G (θ, ψ) = 4π U (θ, ψ) / Pin

G = 4π η A/ λ2    

θ, ψ

η – Aperture Efficiency 

λ – Wavelength [17]

𝑷 = ∫ ∫ 𝑷𝟎(𝒓, 𝜽,𝝍)𝒓𝟐 𝐬𝐢𝐧𝜽𝒅𝝍
𝟐𝝅

𝝍=𝟎

𝝅

𝜽=𝟎
𝒅𝜽  
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https://www.qsl.net/4nec2/#:~:text=4nec2%20is%20a%20completely%20free,starting%20and%20experienced%20antenna%20modeler
https://www.qsl.net/4nec2/#:~:text=4nec2%20is%20a%20completely%20free,starting%20and%20experienced%20antenna%20modeler
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𝑆𝑊𝑅 =  
𝐸 𝑚𝑎𝑥

𝐸 𝑚𝑖𝑛
=

(|𝐸 𝑖⃗⃗⃗⃗  ⃗| +  |𝐸 𝑟⃗⃗⃗⃗⃗⃗ |)

(|𝐸 𝑖⃗⃗⃗⃗  ⃗| −  |𝐸 𝑟⃗⃗⃗⃗⃗⃗ |)
  

|𝐸 𝑟⃗⃗⃗⃗ ⃗⃗ |

|𝐸 𝑖⃗⃗⃗⃗  ⃗|
=  𝜌

𝑆𝑊𝑅 =
1 +  𝜌

1 −  𝜌









 








